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Questionl:-Consider the following statements about Cold War and arrange it in
chronological order.

i.  The Marshall plan

ii. The Cominform

iii. The Truman Doctrine

iv. The Berlin Blockade and airlift

uefllCGury upPlw Wereub Fmpnsmars &M S Camear(h Seupam SreelflendliLig
& (LPMRISHENLDESE| LD
i. rfaged Sl Lb
ii. SO o oLIMFLD
iii. Cemwer Camum(
iv. Gugedler whmens wHmID ellwrers Curs@earsgl
A:-i, i, iii, iv
i, i, iii, iv
B:-i, ii, iv, iii
i, i, iv, i
C:-iii, i, iv, ii
i, i, iv, ii
D:-iii, i, ii, iv
iii, i, ii, iv
Correct Answer:- Option-D

Question2:-Consider the following statement about Mughal painting. Which of the
following is/are correct?

i. Under Akbar, European painting was introduced at the court by the Portuguese
priests.

ii. The book Akbar Nama was used for illustrating.

iii. Portrait painting was not encouraged.

iv. The Mughal painting got great patronage under Aurangazeb.

psemwu gedlwib undlw YeTeumd sapmsamersd seuaflliymiser. 6ol meuarelDhlidd 6Tg
siflwimeng?

i <sufler S, CurfsmEAw urdlflwursermed oGrmibu gallwib BHlwermsden



SINWsLILHSSLILL LG,
i, SUF BIOT eTam LSS ellerdslILL BISERsEU LwarU(hiSsUILL L g,
iii. 2 @meuliLL FF (OB 2ag@eilssliLLaldane.
iv. sorw gellwib gerrhisdider S Cumb < sramalls GQUDDE.
A:-i and iii
i LHmID iii
B:-i and iv
i LHDID iV
C:-ii and iii
i LHmID i
D:-i and ii
i LHmILD i
Correct Answer:- Option-D

Question3:-Consider the following authors and their works. Which of the following
option is correctly matched?

Author Books
a. C.V. Raman Pillai I Malaya Vilasam
b. K.M. Panikkar ii. Premamritam
C. A.R. Raja Raja Varma iii.  Parankipatayali
d. Kesava Dev iv.  Odayil Ninnu

Yevreu(mLd < SFlwrgeerb Sjeufsailen LienL LILSmeTD HeeflhigeT. 19 e6mel (mLd

adlpuumisefled ergy sfluimsts CummbEIS g ?

a. &.e9. gmwerr eTener i emuT eNeuTaLDd
b. G&.eTd. Lianfl&ay ii. NGO mLSl(HELD
C. &J.<2 . QTTHM FTey GUFLOT iii. L L wimed
d. Cageu Cgeu iv.  g@eaule bHlemen)

A:-a-iii, b-i, c-ii, d-iv
a-iii, b-i, c-ii, d-iv
B:-a-ii, b-iii, c-i, d-iv
a-ii, b-iii, c-i, d-iv
C:-a-iii, b-ii, c-i, d-iv
a-iii, b-ii, c-i, d-iv
D:-a-iv, b-iii, c-ii, d-i
a-iv, b-iii, c-ii, d-i
Correct Answer:- Option-B
Question4:-Consider the following subsidiary agencies of UNO and their head

quarters. Which of the following option is properly matched?
UN Agencies Head quarters



a. UNESCO i Rome

b. UNICEF ii.  Washington, DC
C FAO iii. New York City

d IMF iv.  Paris

055 Br(hser sanLiudlen glenewt HlmeIGTBISET HMID AeUDMDIGT SENEENLOWIGHBEISEDETS

seuatymger. emeumd edllmLLmisefled erg sflwumsl QumrmbgSng?

&0. 15T, HlmieUGTBISET SEELOWISHLD
a. AN i.  Gpmb
b. wyelGg..L i, eumedlmiL_eo, 148
C. FAO i, Bluwrys Bar
d. IMF iv. umfle

A:-a-ii, b-i, c-iv, d-iii
a-ii, b-i, c-iv, d-iii
B:-a-iv, b-i, c-ii, d-iii
a-iv, b-i, c-ii, d-iii
C:-a-iv, b-iii, c-i, d-ii
a-iv, b-iii, c-i, d-ii
D:-a-iii, b-ii, c-iv, d-i
a-iii, b-ii, c-iv, d-i
Correct Answer:- Option-C

Question5:-Consider the following statements about Famines in British India. Which
of the following statements are correct?

i. Lord Lytton appointed Sir Richard Strachey Commission.

ii. Mac Donnell Commission was appointed by Lord Ripon.

iii.  Sir George Campbell was appointed to study about the Orissa Famine of 1866.

1 6% @bSluimelley Ligpamiser LpMlw 196mal B s DnIHemeTd &elewmiser. Y6 (pLd
gapmsefled org) Fflwimeng)?
i i dlLer &7 flFsT eul_prdsl sullagener BluLSGsmy
i. Cws CLmeme sllagenar eomyl flliver Blusgssmry.
iii. 1866 <yb e eilar LErsbd undl e Celiw &7 sris CaibLied
Bludl&sul Ly,
A:-i and ii
i LHDID ii
B:-ii and iii
i LoHmLD il
C:-i and iii

i LHmID iii



D:-All the above
CohSemL DmaTsgID
Correct Answer:- Option-C

Question6:-Consider the following facts about Indian freedom movement and
arrange them chronologically.

i Cripps Mission

ii. The August Offer

iii. The Cabinet Mission

iv. Wavell Plan

@pSu &sBHT @ussd uHHL LG6mahHLD 2 @TELEMmETs H(Hd e GlaTeaT(h SeuDHann
sTeeuflenglillg cuflengLiLi(h& g BIGET.
i Sifllie Wlageor
i, sevl sQIms
iii.  omwsrencl LOager
iv. Geubleued Sl L1b
A:-i, i, iii, iv
i, i, iii, iv
B:-ii, i, iv, iii
i, 1, iv, iii
C:-i, i, v, iii
i, i, iv, i
D:-ii, i, iii, iv
i, i, iii, iv
Correct Answer:- Option-B

Question7:-Kettu Kazcha or Kuthira Kettu is an important festivity associated with
temple festivals in the Quilon and Alleppy Districts is related to

Qameravld HMID eIl wreul L kigafler Camelley &lmellprasEnLem Qgm_[FLjenL u
Q(H (PSS Wimer LiewTiq ansWner sl (h & gl GSHTtlsl(H
A:-Buddhism
LS LOSLD
B:-Jainism
&LOGRT LDGLD
C:-Both Buddhism and Jainism
L5S OSLD HMID FLOEWT oS @) FemT(HLb
D:-Hinduism
Qbgl wgd

Correct Answer:- Option-A



Question8:-Who realised that 'Britain's difficulty was India's opportunity'?
"W geqmy’ Srwd @bdHwrellen eumiliL] TN WITF 2 TfhS TI&ET ?
A:-Bala Gangadhar Tilak
LMQ SBISTST Slevsiy
B:-Bhagat Singh
LU&S Sl
C:-Chandrasekhar Azad
shHTCEET W &S
D:-Subhash Chandra Bose
suUmey ghdly Gumev
Correct Answer:- Option-D
Question9:-Which of the following is French intelligence agency?
Yemeumeuemeummled ergl G TEhs 2 are|SgHienm Hlmieuerd?
A:-DGSE
DGSE

B:-CIRO
CIRO

C:-Ml6
MI6

D:-CSIS
CSIS

Correct Answer:- Option-A

Question10:-Which of the following country developed a self defence system called
'‘Krav Maga' for Defence forces?

GemeumLd prhEefled erbs BT LMGISTLLL UL &Eh&SSTS 'SIT6l OTST 6TErm &l
LIMTGISTLIL| SjenLDLIenL sb_@mrrésaﬂu_@]?
A:-USA
Q&S T
B:-Japan
SDLILIMTGHT
C:-China

Feorm

D:-Israel
@evCred
Correct Answer:- Option-D
Questionl1:-A climatologist observes that the vertical temperature profile of the



atmosphere in a particular region shows an inversion layer near the surface. This
phenomenon is most likely to result in which of the following environmental
impacts?

@ GO L LGSl euaflbam_asdler Cem@sg euliublene efleursEmlliLy
Churianeus@ M @ sm&ESD HHEmad T _(HSng eTeann e HToblane
SUIeUTeT Seual&H DTy, @hs Blape YeTal(HD 6Ths FHMF GHLPED STEHEBISEHSHE UL
UGHSGWD?

A:-Enhanced dispersion of air pollutants due to increased convective uplift
SFsfgs euliuggeoer 2 wWie smyanrons srHm wraL(hsdseaflar oiHaflss Liraie

B:-Reduced visibility and increased smog formation due to trapped pollutants
fsHw wreupsdleerTe Gmnssliul L Ggflejblane wHmD ASHSHSS Liensepl L Lb
2 (HeUM&SLD

C:-Intensified cyclonic activity caused by rapid adiabatic cooling
ellenreumen 2jiquiLmigd @GeafleplLeomed erpuBibd SellFliu®ssiul L @nreue
Qeweoim()

D:-Higher rates of evaporation from surface water bodies due to elevated
temperatures

> Wipg Qeuliublenew sryenrons Guopuriiy Bibleoseaid @mbg <ids <elwumnge
gl pmiger
Correct Answer:- Option-B

Questionl2:-The formation of Hogenakkal Falls on the Kaveri River is primarily the
result of :

sredlfl < nhle @Caasse BFeSpssl o (HaumeUFSN@ (PSEMENLDWITGT STFETLD
A:-Headward erosion by a tributary cutting across soft alluvial deposits

QOGTENLOWITET EUERTL 6D Lilga|seneT Glaul (M Heaner BHwmed semadprs SiflliL

B:-The Kaveri River Plunging over a landscape of resistant granite rocks in the
Dharmapuri plateau region

oy fl Lyl ugdHude erdliliyg dper Carem Syrenar Litenmaeafler Hlovlirlie
sreilfl Bl sfldlmg)

C:-Tectonic uplift creating a fault scarp over which the river descends
QL&GLTafls Cuobur® e W sreeT 2 (Heurs@GHng, iger 55 B QnniGHng

D:-Coastal erosion shaping the river's estuarine delta before it enters the Bay
of Bengal

cumigTer ellflGLmelled mempeusnH @ (et 2, Mmmlen SPAPS CILOL M6l 6l eUenLDSEGLD

senGwimy il



Correct Answer:- Option-B

Questionl13:-The persistence of hyper-arid conditions in the Sahara Desert can be
best explained by which combination of geographical factors?

FaDMIT LUTemelasdd oiHls cupeanr Hlevavanosailer Hlanessemenoen eThg Ljedludlwie
smyentiseflen samaiwimed HpliLing ellerés (pigub?

A:-Location in the sub-tropical high-pressure belt, cold ocean currents nearby
and rain-shadow effect of surrounding mountains

glanent GleulILERTL_ ) 2 W (PSS LUGSuded QL b, SimdlaeTer @GeflfbHg &HLeb
BCrmlLiger wHmibd &Hlujerer wenvgaflen weanp-Flipe cflaneray]

B:-Equatorial low-pressure dominance, warm ocean currents and dense
vegetation cover
s Crens @Gaompbe A(Ppss AS&sD, @GLTer s SCrmLhiser whmib
SIL TS WITET STeUFhIGET

C:-Mid-latitude westerlies, fertile loose soils and presence of perennial rivers
&S L FCrens CMH@GL LGS &6, aUeTDTET Serieumen e WwHmD euHmTs p,miseflen
QG

D:-Subpolar low-pressure belt, permafrost conditions and glaciation
ST Fl(HeU GMDHS (WSS LGS, Blrssy 2 amuet Hlenaennser wHmid Lt iLTenm

Correct Answer:- Option-A

Questionl4:-The concentration of jute cultivation in the Ganga-Brahmaputra delta
region is primarily due to which combination of factors?

shias-rboLsSTT oL r u@gdulld samad srguiguier Cade| PSETmLWTS eTHS
sryewilgatien sovameuwimed eFHuHEmE?

A:-Sandy soils, dry winter climate and low population density
LewTed Hlepmpbg e, eupent Gaflismo sreblene LHMID G®DhS &ESET CgTans
DAL TES)

B:-Fertile alluvial soils, high temperature with good rainfall and availability of
cheap labour

QUEITLDITEY GUGHTL 6L LOGHT, Hevaw LaLpLiGlume] HmID edleumen 2 anlpLiL| HlenL @D
SETEMLO|L_6T Fnlqll iSl& Gleuliublened
C:-Laterite soils, moderate rainfall and mechanized farming
Gl eyl wewr, Wgwmer wenplibumfle] wHmibd GubSrowmnrssiinl L eflelgmuid
D:-Black cotton soils, irrigation facilities and proximity to textile industries
(LY LHSS! LoewT, ﬁ%l’juurracm eugS&H6T HMID Meyetls STl EHEE@ i(HETaLUle

Correct Answer:- Option-B



Question15:-The black sand deposits along the Kerala coast, particularly in Kollam
and Alappuzha districts are economically significant mainly because they contain :

Carer sL_hEenruied, @GHILLTS CHmaeD WHMILD LT el L Bigefled 2 6Ter s(mLiL
LG Llg6|&6T Qumpernsny FHwns (psdlwsgieud cumiibsame, eOlaraid oema
Y etreu(HeuemeLDen & Gl menT(heTereo

A:-High-grade iron ore used in steel production
6Too@ 2-HUSH UL LweTL(HSSLILHL 2 WFST @ (HDLS Sgl

B:-Coal seams suitable for thermal power generation
Qeutin e 2 HUSHESG THm Hlo&sH g LiL|geT

C:-Natural gas reserves trapped in coastal sediments
LGy cuenTLcvaatled FsHluerer Guimens erileumuyy @mLIL|SS5eT

D:-Rare earth elements and heavy minerals like ilmenite, monazite and rutile
SIflW ewT eflmiger HnLb @eweaar., Guramend HMLD aplenl 6 CLTemD SeTLmen
GO MmIGET

Correct Answer:- Option-D

Question16:-Which of the following developments best exemplifies Tamil Nadu's
strategic shift toward high-tech and export-oriented industrialization?

o Wiy Asmleoml L whmib ghmiwd rybg Gsmilawuwimnnssamer Crmésdlul SLSlILPBTL g6
epCeorumu rHmsens Weral b (WearGarhprisaiay 6Tgl ApLiLns T(hHEgsST(HEng)?

A:-Expansion of Al-powered waste management systems in Madurai
gieruied Al- @uini@b sfle] Coararend ewliLseter 6dlfleumssn

B:-Subsidies and shared infrastructure for chip design firms under the
Semiconductor Mission 2030

G@D&HL5F Wager 2030 Ger S Lt auigeuenoliL Blmieukis@h&ESTen Te WLIniGET
LHMD iUl L 2 sl Lanoliy

C:-Deployment of pumped-storage hydroelectric projects for renewable energy
generation

LUgL196855858 eTfledd) o pusdasrar Libl-eavCLrCrey Brler S L hisamerd
Lt (D S&I1Se0
D:-Beautification drives in city hotspots under civic cleanliness initiatives
Glgao gniew puphdlseaier S BT anmevoum’ sefled SPGUHSHD QUSSRISET
Correct Answer:- Option-B

Question17:-Which Five Year Plan was launched immediately after the two
consecutive Annual Plans (1990-92)7?

Qar_g&slwner @rew(h eumLhIT S L misEps@U Wng (1990-92) arhs eybg e



SILLID o L amquingg Cgmmislii’ L g)?
A:-Sixth Plan
<mreigl LD
B:-Seventh Plan
gmeug) Sl b
C:-Eighth Plan
oL meugy L b
D:-Ninth Plan
QREMLIFToUE Sl LD
Correct Answer:- Option-C
Questionl18:-In the context of the Indian economy, potential GDP refers to :
@St Qumrmermtgsmrsdler @Gwale, FrsSlwinner Cbrss 2 B (h 2 HLUSS eTerig)
A:-India's highest GDP ever recorded
@nSureier @geuany udle] Qi L HHsul g Corss 2 eTprl(h 2 Husd
B:-Maximum sustainable output without causing inflationary pressure
LenTeids S(PE55MmE FHLOSSTOD sl s Hlaeowrer Ceuaflui®
C:-GDP at current market prices
sHCuUTemsW shang elleamasare Gomss 2 eTHrl(h 2 HuSS)
D:-GDP at base-year prices
SlgliumL yar(h ellemasaic Gorss o etpr () 2 HLS
Correct Answer:- Option-B

Question19:-Under the NITI Aayog's mandate, which of the following functions is
beyond its official scope?

Blf < Cuimrgdlen <y emanruden S, emeumbd CeuduThseaid eTgl Siger HaTrli,Tol
CTEENQVSHE HLILITHLIL L g7
A:-Acting as a knowledge and innovation hub for policy-making

Camatens au@LldhaTer =iHley OHMID Lglend enwiors Ceweu(hge

B:-Providing grants-in-aid directly to State Governments
Bl DA7&sERsE Chrgwins wraflu 2 Sellsmer auLphI@ge

C:-Designing strategic and long-term policy frameworks

epGaorumu wHmibd BewTLErew CETeTens Sl L anolIL|EE6T 6llq6emLOEE60

D:-Monitoring and evaluating the implementation of government programmes
97E S Lmigamer Ceudu(sgleians samsralsgsn wHnb wHUEEH Celige

Correct Answer:- Option-B



Question20:-Arrange the following agricultural policy milestones in India in their

correct chronological sequence :

A. Introduction in the Intensive Agricultural District Programme (IADP) under the
Community Development framework.

B. Launch of the High-Yielding Variety Programme (HYVP) under the Green

Revolution.

C. Formation of the Food Corporation of India (FCI) for procurement and

distribution.

D. Commencement of Operation Flood Phase-I for dairy development.

@nslumeiler Yemeumbd afleusmus CETeTans enOLSHHMET jeumdlen Fifluwimer
sreoeuflenslitilg euflensiLi(HSSIS
A.  seps Gobur () sl Lenwliber Eip Saly Couarment wreul L g L b (IADP)
2ABpsD
B. u&ewl Yyl &lules d%lc_fD 9Fls LEGD D Uanpss S Lsams (HYVP)
(1) (I ATGE: o
C. Qametupse womb HNBCWrssSHDaTs @Qbslw o areys swpsn (FCI)
o (FaumsLD

D. urmé uerenewr Cowburligharer Geusters ClLmE@E, UL Lb-l @ OHTL&sD

A-A-C-B-D
A-C-B-D
Bi-C-A-B-D
C-A-B-D
C-A-B-C-D
A-B-C-D
D:-C-B-A-D
C-B-A-D

Correct Answer:- Option-A

Question21:-Which of the following statements about India's mineral imports is
correct?

@nslumeilen seflo @né@Ldlger LnMlw Werelmwb sgmpmsseafler erg sfluimeng?
A:-India is self-sufficient in coking coal, so it does not important it

@npSlur flossfluie gearaiamme| CUbDmaTeTs), crarGol ens Q&GS Csliaudlame
B:-Bauxite is the largest imported non-ferrous metal ore

ursensl @n&@EwS Cewiin@n WsuGuflu @ @by Soers 2 Canss srg)
C:-India's uranium imports have been declining every year since 2018

@nslumeier wCraflwb Gns@wd 2018 (pae gelblourm (b Gmmbg eUmSng
D:-Gold accounts for a major share of India's mineral import bill by value

@nSlumeilen seflo @né@Ld wEsrsTelle) HmIsD LIk SigliLamLuied Clumb



Lkienad ©lgmenT(heTarg
Correct Answer:- Option-D

Question22:-In India, which state reported the highest GST revenue collection in
2024-257?

@ndwraied, 2024-25 opib ewTiqed 6THS WTHlLD F&% sleTavlg. GuHEUT 6UEeNE L]
udley CQauigererg?
A:-Karnataka
SIBITL&GIT
B:-Tamil Nadu
N C
C:-Maharashtra
DS TFTOGlg [T
D:-Gujarat
GRS
Correct Answer:- Option-C

Question23:-Which of the following does not fall under Article 51A of the
Constitution's list of fundamental duties?

l. To abide by the Constitution and respect its ideals.

.  To defend the country and render national service when called upon to do so.
lll.  To work for the moral upliftment of the weaker sections of society.

IV.  To preserve the rich heritage of our composite culture.

<rflwenwlier SgliLienl & sLewger ULigwiedled Wfley 51A @er S curmsg) ergl?
. Srdlueemblienu sl Ly &g g Osmereanggsaner wdlds Gouer(hLd
Il prienL U ungsnésa|bd, CoseamauiuhibGurg Caslu Caameuamut euLpkISE|D
. gepssdear ueeianorer Wflesafier grilSs Cuobumighars urGu Gouem(HLb
IV.  Bg sal (h sordsmygdlen cueromer UTFOURWLSMmSL LITgsTéss Couemt(hd
A:-l and Il only
I womid 1w (Hib
B:-lll and IV only
I womin 1V o (Hib
C:-1ll only
I b (b
D:-l and IV only
| womid IV (b

Correct Answer:- Option-C



Question24:-The Constitution assigns obligation for the enforcement of
Fundamental Rights.

I.  Exclusively with the Supreme Court.

ll. Both with the High Courts and the Supreme Court.

lll. Administrative Tribunals in the Country.

IV. None of the above

SrFlwenoliL] g liLianl 2 F&meT A OLIHSSHIUSDSTET SNl cULpBIEGSE DG
l.  o&g fHwarnsgiLer L HGW
1. 2w SSlwemmhiser LHnD 2 F& Blermid @) e (HLeb
. Briige o dmer fljeuns STliLimumbiser
V. Cuphaadlueimdled ergieyLslebeney
A:-l only
| ol i
B:-1l only
Il o (Hd
C:-l, Il'and 1l
l, I oomio
D:-1V only
IV o1 @b

Correct Answer:- Option-B

Question25:-A poor man cannot appeal straight to the High Court for redress if the
government appropriates his land without paying him since the

l. The expense for it is too high.

.  The right to property is a legal right.

lll.  The court no longer has the authority to decide on compensation.

IV.  The issue is outside of their purview.

QR FenLp eflgen Sengl Hlsams HTFTRISD Sa1s@, LiewTDd CFa)ssmod
aswsliuBsHeame, flamyansdnars Corgwrs 2wy BHoamsdad Coapanui
CaFiwr wplguing)
l. Spnaran CFwe] L& D
Il Qemggiflend ererig) &L L UL feu 2 flenLd
Il Quilse @hiss wylaBss E&wansdbe Qafl widsmrd Gehama
V.  drsflenen Sjeufsailen cramasE LUTDHLL L g|

A:-l and Il only
| womib 11w (Hib

B:-lll and IV only
Il ohmibd IV ol @i



C:-lll only

Il oL @b

D:-1l only
Il (b
Correct Answer:- Option-D

Question26:-Which the following subjects has/have been moved from State list to
Concurrent list of Indian Constitution as per the 42nd Amendment Act?

I.  Population control and family planning

II. Education

lll. Railways

IV. Forests

426u8) $(m55& FL_sSlenLilg, emalpbd eThsll LML B&eT wrbleols L igueledlmbg @bl
Sirflweennliber Cr Crrssled Ll iqwiaisa@ wrhmriul (hererer?

l.  w&sarsrens s (HLum@k wHMIL GHbus Sl

Il. seval
. rulebGou
V. srhser
A:-l and Il only
I womid (b

B:-1l and IV only
Il opmid IV b
C:-lll and IV only
I womibd IV bl Hib
D:-l and IV only
| bpmb IV bl Hb
Correct Answer:- Option-B

Question27:-A foreigner who remains in India is not entitled to :
. Freedom of trade and profession.

lI. Equality before law.

lll. Protection of Life and personal liberty.

IV. Freedom of religion.

@pSlumeiler @mSEW e GeuafBILel(Hda@ 2 M @eene :
l.  ausssb wHmib AsTHed &S5BS T

Il sl gHan (per ssgauLD

. eumpsens wHmib selLul L &sbSlrsHlen LimgsmiL

V. g &zpSrb



A:-l only
| b (Hid
B:-1ll and IV only
I wpmid IV bl Hib
C:-1l only
Il (b
D:-l and IV only
| bpmb IV bl Hb
Correct Answer:- Option-A

Question28:-Members of the council of ministers include :

.  The Prime Minister, The Vice President and other ministers.
[I. The President and other Ministers.

[Il. The Prime Minister and other Ministers.

IV. None of the above

SMOEFFTSHET @ (pedlerr 2 mILenyser

l.  Qrswry, geenr gardudl womib WD enFFTEeT
Il syemdlugl womib 19D Sen&FTSHeT

. Qrgwi wHmb Gn DawEsFTseT

V.  Cuwpsadlueihdled ergieyLslebeney

A:-l only
| b (b

B:-Il and Il
Il opmid 1l

C:-lll only
Il (b

D:-IV only
IV ol (Hib

Correct Answer:- Option-C

Question29:-Examine the following statements about India's amendment
processing.
I.  Majority of the provision of the constitution can be amended by the Parliament
alone

either by simple majority or by two third majority.
II. Certain amendment can be initiated only by the states.
lll. No time-limit has been prescribed by the Constitution for ratification of
amendments by

the states.
IV. There is no provision in the constitution to resolve the deadlock between the
two houses



of Parliament over the amendment of the Constitution of the above
statements.
Which of the above statements are correct?

@ndwralern Hmsss swrssd GHlss LAemalHn APNSMESSMmET <, TTiis.
. Srdlueeabliber QUmbLTaTDLEW LMTTEHLanS ST L (HGw Hmss
WPlgUd
Il Sl Smssmsamer wrblamkserme WL HCW CGTL_B& (Lpigu|b
.  Smssnsamen wrbleonisarmed bSESHES SFflLOELUILITED 6ThS HTe
SleusTFpLD BlfanrudssliL_afleene
V.  Cuwpsear. flsamssaflsn opflweoewnlilg Smssbd Csrfurs
BTLT@BLOGTDSS 6T @)(H DiemeusEhs@L @enullemen (pL(HEsHL L aniis
158 Srflueenliled eibg gHUTHID @evane
A:-1l and Ill only
Il oomib H o (Ko
B:-Il, [l and IV only
I, I opmin 1V ol (i
C:-I, I and IV only
I, I bpmin 1V o (Hib
D:-1, Il and IV only
I, I bpmin 1V o (Hibd

Correct Answer:- Option-D

Question30:-The primary objective of Article 350 Aisto:

I.  Promote the use of Hindi in all primary schools.

lI. Safeguard the rights of linguistic minorities.

lll. Ensure education in the mother tongue at the primary stage.
IV. Regulate the medium of instruction at the university level.

197le) 350 A Glair (pseTentd CHTESLD :

I omarsg Qgr_ssls Leratlseaiigid @b LweTUm L 2618 @655 60

Il Qurduilue Snurerewulerier 2 flepsamert LTGISHTSSe

. Qsrgs Bleneouded smiGmPuile seelleanwt 2 midl Cguige

V. vesmossps L gl Lulhniels@hd 20 s5ms 6 (PniELI(HSSIS0
A:-ll and Ill only

Il womid H o (b

B:-l and Il only
| womid 1wl (Hib



C:-ll, Il and IV only
I, Il opmd 1V ol (b
D:-1, Il and IIl only
I, I opmid ol Hib
Correct Answer:- Option-A

Question31:-According to the draft Rules of Greenhouse Gases Emission Intensity
Target (GEI) Target Rukes 2025 how is Greenhouse Gases Emission Intensity (GEIl)
defined?

I. As the total amount of carbon dioxide alone emitted per product.

Il. As greenhouse gases emission intensity in :co.e equivalent output or product.
lll. As the volume of methane released during production.

IV. None of the above

L&D @evav aumdaser 2 slpa| el @evsa, (GEl) @ade alldlser 2025 auamray
cdlgafleniig s @eo aurydser 2 lpeay Sl (GEI) ereueummy
uanTUmISSLILHSDEI?
. e swurfliysE wlHb GeuellCupPLILIHIL CTES STTLET L ,HenFL g6
/AT
. swwrer Qeuaflui(h sbeg swrfllingg $iferanalev cumyssdr 2 lpe| Selrb
. 2 pugdufer Gurg Qeueflul il BsCHem Sjaray
V.  Cupsapdlueimdled ergieyLslevensy

A:-ll only
Il o Bib

B:-l and Il only
| bpmid [ mattum

C:-IV only
IV ol (Hib

D:-I, Il and I
l, I oomio

Correct Answer:- Option-A

Question32:-Which of the following statements are correct about Panchayati Raj
Institutions in Kerala?
i. The People's Planning Campaign in Kerala was launched in 1996.
ii. The Indian Constitution under Article 243 provides for the establishment of
Panchayati Raj Institutions
iii. The State Election Commission prepares the electoral rolls for Panchayat
elections in

Kerala.

Carearmeiled LIghamLSS TTeY Blmieuermiger LHHlw Gereumd sanmsafle erg sflwmeng ?



i.  Carermeiled asET L6 Gygemybd 1996 @6 Cgrmsiul L g
i. @bdHu srfuoenoliL) Gfley 243 Qe E1p LIEGHFTWSS T} HlHiEIaThIGET
Blnieulithelans alpmiGSngl
iii. wmhle Carge ymenTwd LIEhFTSSE CHTSOHEHSSTET UTESHTETT LI Iq LIS
swmfladpg Cayerm
A:-Only i and ii
i HMID i L (HLD
B:-Only i and iii
i HmID iii (b
C:-Only ii and iii
i omid iii I (Hbd
D:-Only i, ii and iii
i, il omLd iii I (HLbd
Correct Answer:- Option-D
Question33:-Which of the following is the first e-Literate District in India?
Yereumeusmeupdled @\bSlwimeilen (psa Llem-seeilwide] wreul L b erg)?
A:-Guntur
GLuCly
B:-Jodhpur
GRS
C:-Malappuram
LOELIL|TLD
D:-Chandigarh
FEOTlq ST
Correct Answer:- Option-C
Question34:-The Aardram Mission mainly aims at :
TSI Weager (p&SlwinTs Crrssnnss ClsmeT_g).
A:-Eradication of malaria
CaRlwm gLl
B:-Upgrading PHCs to Family Health Centres (FHCs)
QIIbU &ETHTT Hlevawbisaner @HbU &&Ersry Hlevewmksearns (FHCS) Cobu(hsgisea
C:-Establishing medical colleges in all districts
MG oMU L BISETQID L(BSSIeUE Hoanflsamer blnie|se



D:-Expanding private hospitals
ST D(HSlelnameng:amer 6llifle] L (hdsise
Correct Answer:- Option-B

Question35:-The Right to Education Act (RTE), 2009 makes education a
Fundamental Right under which article of the Indian Constitution?

seall 2 flenng s b (RTE), 2009 @pdlw oirflweenwlien erpgl fleler SLp
svellen g liLienL 2 Flepwing < ,&E&S ng)?

A:-Article 15(a)
Aifley 15(a)

B:-Article 19(a)
Aifley 19(a)

C:-Article 21-A
Aifley 21-A

D:-Article 51-A
Aifley 51-A
Correct Answer:- Option-C

Question36:-Which organization in Kerala is described as one of the largest
women's self-help networks in the world?

Carermelley o emer 6ThS emoliL] 2 @dler WsLGLFW CuemrgeT sw o el
cuemeWeLLILseted eearnrs afleuflésiiLhidng?
A:-Kerala State Women's Commission
Caar miblev a6l <), enemruiLd
B:-Kudumbashree Mission
&HbueL Llager
C:-Mahila Mandal Federation
&6 T Fal L enloliL]
D:-Kerala Women's Development Corporation
Carar aefly Cbur’ (Hé SLpsLd

Correct Answer:- Option-B

Question37:-Which of the following program aims to bring children of migrant
workers into Kerala's Education system?

Hoowuwinsg Csmfleorerisetien @Gwhassamer Carermealilen saell (panmé@er
Csmear(helmeuans CrrEswLnss CeramL S L b 6rg)?

A:-Vijnana Keralam
cfl@epepmer GCsrermbd



B:-Jyothi
Gegrdl
C:-Thinkal
Slbsen e
D:-Bandhu
b
Correct Answer:- Option-B
Question38:-Which of the following is not a function of the hypothalamus?
Yemeumeuameummley eTg enanGumsawedlen Clawumh ojeen?
A:-Regulation of body temperature
o | & Geuliublencveni e(pmiEGU(HSSIHE0
B:-Control of appetite and weight
L&l wHMID eTenLemwd SL_(HLL(HESIS60
C:-Regulation of emotional responses
o GuT&FSILFelnmen LIS 6(Lphi@E L (hSSIS6
D:-Production of melatonin
GweGLreafler o HLGS
Correct Answer:- Option-D

Question39:-Which vitamin deficiency is known to cause Pernicious anaemia, a
condition where the body cannot absorb that vitamin due to the lack of intrinsic
factor?

Ths eneul L Ller @GeppuUT(h yLSsTer Qrs5s Camansamw FHLIBSSIE DG, Qg 2 eTerTihs
STrentl QOOMSSML 2 L6 hs emeul L Llenar 2 MlEhd (Piq Wil e (1 Hlanen?
A:-Vitamin B3

emeul_L e 193

B:-Vitamin B12

aneul_L_LOleor 1912
C:-Vitamin C
aneuL_L_LOleor &
D:-Vitamin D
GUL_L_LOIGT Iy
Correct Answer:- Option-B

Question40:-Match the diseases with their causative parasite :

a. Syphilis i. Bordetella pertusis

b. Whooping cough ii. Trypanosoma gambiense
c. Plague iii.  Treponema pallidum



d. Chickenpox iv.  Yersinia pestis
e. Sleeping sickness v. Varicella zoster virus

Crrenws jeumbler smrenTLome 6L (heuwTentw]L 6 OlLIT(HSSIs

a. Sdelev i umpLQ e Qui(&len

b. s&@eurer @ i, gfluGeamGamor Cabllwerev
c. UGers iii.  LCQrCunCGerom LimedlLLb

d. Sl&ser Lmen iv.  Quidleflwmr Cuevig e

e. gnss Cpmi V. GauflGleder GorevL i enalrev

A:-a-v, b-i, c-ii, d-iii, e-iv
a-v, b-i, c-ii, d-iii, e-iv

B:-a-iii, b-i, c-iv, d-v, e-ii
a-iii, b-i, c-iv, d-v, e-ii

C:-a-ii, b-iii, c-v, d-i, e-iv
a-ii, b-iii, c-v, d-i, e-iv

D:-a-iv, b-v, c-ii, d-i, e-iii
a-iv, b-v, c-ii, d-i, e-iii

Correct Answer:- Option-B

Question41:-Which pollutant is most commonly associated with the formation of
acid rain?

Sl el 2 (heureudle eThg r&UT(H Curgleuns Csm L wig)?
A:-Carbon monoxide and Methane
sriue Gorarseag® wHnib BsEHe
B:-Methane and Carbon dioxide
BECHeT HMID STTLGT vl A& (H
C:-Sulphur dioxide and nitrogen dioxide
FOULIT L AEMEF(H LDHMILD MHL_TO6T DL A& (H
D:-Ozone and Sulphur dioxide
Came LHMILD FOUT L s
Correct Answer:- Option-C

Question42:-What is the name of the Kerala government's project aimed to provide
free cancer treatment to underprivileged patients?

cugdl @eanmhs CrmuTetsEnsE@ @Qeoveus LnmGrmi HFmaamt cuphi@Geiamg CHTESENSS
Camearr Carer rflen Sl L Gdlem GQlLwIF eremer?

A:-Sukrutham
&&(HSLD

B:-E-Health Kerala



e s&remy CaHpemm

C:-Jeevani Clinics
sSeuerfl Seflaflls@ser

D:-Ayush Keralam
Y as Carerd
Correct Answer:- Option-A

Question43:-Which of the following statement is not correct about photoelectric
effect?

gaflsler aflenere] LMW emalmd gapdlgeatieh ergl FFluUMaISO?
A:-Number of photoelectrons emitted depends on the intensity of light
2 Npriu(Bb gelldlaarpsshsailern craranlisans galuler SallFsamss QUTNSSS
B:-Energy of photoelectron is determined by the incident light intensity
gaflflaran(psssder < pme e gaflufer Sallssme Sioralssl LB ng

C:-There is no time lag between the arrival of photon at a metal surface and
the emission of electron

e 2 Goorg Cpurlide «Cur’Lmer eumanss@Ld eroslprafler 2 1pa|s@Eh @enLulld
b5 Crr @en_Gleuefluybd @evena

D:-Energy of photoelectron depends on the frequency of incident light
aflllaran(psssdler < hme el gaflufler Sellrssme SiwmalssiiuBSng

Correct Answer:- Option-B
Question44:-Energy required to eject a 100 kg space craft from the earth surface is
Lludlerr Gopuriinde @mpg 100 SCam erenLujerer allansasans GleuetlGuinm
Coenauwimer <4,mHme

A:-3.02x1087
3.02x1087

B:-6.05x1087

6.05x1087

C:-3.02x10%7

3.02x10%7

D:-6.05x10%7

6.05x10°J
Correct Answer:- Option-D
Question45:-The surface tension of a liquid varies with temperature as
@@ Sreusdlen Copuriiy] @pelens Geuliublenevenwis CUTmISE wrmiLHID
A:-Surface tension increases with increase in temperature
Geutiublened FlafliiyLer Conuriy @peilans dlafssng



B:-Surface tension decreases with increase in temperature
Qeutiublaney Fsflier Copurlily @peleans @Gamnalng
C:-Surface tension is independent of temperature
Cupurliy @uelens Qeulitiflaneoulled(hhg FLTSaTOTETS)
D:-None of the above
Cunsadliu ergia|b @eene
Correct Answer:- Option-B

Question46:-Rocket which is identified as the launch vehicle for Gaganyaan Mission
of ISRO is

@evGrmeilen &&HemUTen LQUEISHTET 6JeS6T EUMSETLONS < eHL_ITETLD SHTeuTiiiL L
Tr&SGlsL

A:-PSLV - C36
PSLV - C36

B:-GSLV Mk Il
GSLV Mk I

C:-HLVM3
HLVM3

D:-RLV -TD
RLV -TD

Correct Answer:- Option-C

Question47:-The process of conversion of a solid directly to its gaseous state is
known as

e SLLGummener CrIgwITs: 56T aumy Hlaned @ wrHmid ClFuwiewpenn
A:-Fusion
Qevamray
B:-Condensation
@(HESLD
C:-Evaporation
<, elwrged
D:-Sublimation
LIS RIS TS ED
Correct Answer:- Option-D
Question48:-The major metal component of the alloy Pewter is
Gyl Ly Sjeord semi-eller psdlu 2 Coonsd dam
A:-Copper
SmLOITLD



B:-Tin
SSHILD
C:-Zinc
SISHHISD
D:-None of the above
Cuonaadlweunmle ergia|dleene
Correct Answer:- Option-B
Question49:-Which among the following is an example for Lewis acid?
Yemeumeuameummled uilen HOSSDSTET 2 STTeRTD 6TH)?

A:-Aici,
AlClg

B:-m+

gt

C:-(cHs) B
(CHz),B

D:-All the above

CuGe 2_6TeT DenarsgID

Correct Answer:- Option-D

Question50:-Among the four recently added elements to modern Periodic table of
elements, the last element with atomic number 118 is

peiern saflbmiseafler e o Louamanuied LSl Carassiiul L pren@ geflonigeafle,
Slam) eTenr 118 Gameanr senL&l gaflob

A:-Moscovium

wrevGsmellwib

B:-Oganesson

&0l g e
C:-Nihonium

HlGamreflwid
D:-Tennessine

Ol L_coreurd cor

Correct Answer:- Option-B

Question51:-There are 10 staff in an office. When a 32 year old staff were
transfered and another joined, the average age was increased by 2 years. How old
is the new staff?

QR SYleuessSled 10 earfluifger o arereany 32 auwgienl W 6(h 2er 8wy wrHmritl (h



wHEmrm caOwiy CarassiiulLCungl, symafl euwgl 2 yarhser SFlsflesiulLg L

parSlIFSHET 6T GUUI cTeULETE?

A:-41
41

B:-52
52

C:-46
46

D:-38
38

Correct Answer:- Option-B

Question52:-Find the largest power of 2 that divides
1x2x3x%x4x... X 29 x 30.

1x2x3x4x... X 29 X 30 g1 UflGEL 2 e WsLGUFlw s&denwd serLpluiebd
A:-22

B:-22

Ci-218

215

D:-g30

230

Correct Answer:- Option-A

Question53:-0Out of 40 students, 6 are absent in the class. What is the percentage
of students present?

40 wranreuisaiied, 6 Cui eu@LiIbe G dena. wramTafsailen F56ais0 ereleL6Tey?

A:-80
80

B:-75
75

C:-85
85

D:-90
90

Correct Answer:- Option-C
Question54:-Find (1.o1)2— @.012.

(11.01)2-(1.01)? Q& SETLMHULIGLD

A:-110.1
110.1

B:-1100.2



1100.2

C:-12.02
12.02

D:-120.2
120.2

Correct Answer:- Option-D

Question55:-Rajan wants to cover the floor of a 16 square meter room by square
tiles. If each square tile is of side 0.5 m, then find the number of tiles required to
cover the floor.

16 ggir BT empullen sengenw &5i7 e(hEemmed epL pmegen ellHLSDTT. geubleum(m
g7 @®b 0.5 5 LGseuT 14 QBBSTD, sanranit epL Coaeuwimen e (haaefler

TS HEM WIS SETL_MUWGLD.

A:-56
56

B:-64
64

C:-72
72

D:-80
80

Correct Answer:- Option-B
Question56:-Set the odd number out

RMEDLILIGHL CTEITENEIT <{eHLD&HSHE LD

A:-25
25

B:-36
36

C:-60
60

D:-81
81

Correct Answer:- Option-C
Question57:-If 28th of a month is thursday then what day is the 2nd of that month?
@@ wresSlen 28 <yib Cadl ellwmpsslipamd erammmed, AbS WTSsSSer 2 b Cadl eThs
BITET?

A:-Monday
Flmiger

B:-Saturday



Feorl
C:-Thursday
eSlwimLpedT
D:-Tuesday
Q&cueuml

Correct Answer:- Option-B

Question58:-Find the number of right angles turned through by the hour hand of a
clock when it goes from 4 to 10

@@ Slgasmrd 4 (psed 10 aueny CgagbCumg igen wewllCHT (et F(mLdL{LD

CemGaranrmisaien cramanilémaeniid e Muie|d

A:-1
1
B:-zero
LyReBlwid
C:-2
2
D:-3
3

Correct Answer:- Option-C

Question59:-If a motor bike travels 210 km is 5 litres of petrol, how much distance
it will cover in 1.5 litres of petrol?

e Gl Ly engsdldar 5 60l Lj QulCrmellé 210 &8 nwerliggme, 1.5 i
QUL Grmedléd ereuaemey D LiweamtSEw?

A:-68 km
68 4.5

B:-63 km
63 4.5

C:-80 km
80 4.5

D:-74 km
74 8.8

Correct Answer:- Option-B

Question60:-Find the next term in the given sequence :
ADX, CHV, ELT, GPR,

Carhssiul L aflanssailey AHSS CeTorenas samdluweb. ADX, CHV, ELT, GPR,



A:-ITP
I'TP

B:-HJN
HJN

C:-INF
INF

D:-HXS
HXS

Correct Answer:- Option-A

Question61:-The number of errors in the report surprising, but a variety of
solutions been proposed to address them.

A:-is, has

B:-are, have

C:-is, have

D:-are, has

Correct Answer:- Option-C

Question62:-Select the correct option for the sentence :
Mount Everest is known for being highest peak in
world, but climbing it requires extraordinary effort.

A:-No article, the, the, an
B:-The, no article, no article, an
C:-No article, no article, the, an
D:-The, the, the, no article
Correct Answer:- Option-A

Question63:-Select the correct option for the sentence :
The instructor advised carefully before attempting the advanced
technique in practice.

A:-to plan, to master
B:-planning, mastering
C:-to plan, mastering
D:-planning, to master
Correct Answer:- Option-D

Question64:-Select the correct option for the sentence :

While the engineers the prototype, they discovered that the materials
under high pressure.

A:-were testing, had failed
B:-tested, failed

C:-have been testing, were failing
D:-are testing, fail



Correct Answer:- Option-A

Question65:-Which option correctly transforms the active voice sentence into the
passive voice, preserving the original tense and meaning?

Active : The lead scientist would have finalized the experiment's parameters if the
funding had not been cut.

A:-The experiment's parameters would be finalized by the lead scientist if the
funding had not been cut

B:-The experiment's parameters would have been finalized by the lead
scientist if the funding had not been cut

C:-The experiment's parameters had been finalized by the lead scientist if the
funding was not cut

D:-The experiment's parameters would have been finalizing by the lead
scientist if the funding hadn't been cut

Correct Answer:- Option-B

Question66:-Select the most appropriate synonym for "recondite"” in the sentence :
The Scholar's lecture on quantum mechanics left even the advanced
students struggling to grasp the concepts.

A:-Abstruse

B:-Great

C:-Arcane

D:-Occult

Correct Answer:- Option-A

Question67:-Choose the one-word substitute that best replaces the phrase "a
person who is excessively concerned with minor details or rules" in the sentence :
The editor's reputation as a delayed the project due to her insistence on
perfect formatting.

A:-Pedant
B:-Fundamentalist
C:-Purist

D:-Martinet

Correct Answer:- Option-A

Question68:-Choose the correct spelling for the word in the sentence :
The scientist warned that neglecting the issue could the environmental
crisis.

A:-exaccerbate
B:-exaserbate
C:-exacerbate
D:-exasserbate

Correct Answer:- Option-C

Question69:-What does the idiom "to burn one's bridges" mean in the sentence :
By publicity criticizing the company after resigning, she burned her bridges with



potential future employers in the industry.
A:-To make a bold move to start a new
B:-To eliminate possibilities for future reconciliation or return
C:-To take a risky action to gain attention
D:-To sever ties temporarily to focus on new opportunities
Correct Answer:- Option-B

Question70:-Select the correct compound word to complete the sentence :
The architect's innovative design for the structure won accolades for its
sustainability.

A:-eco friendly
B:-ecofriendly
C:-eco-friendly
D:-ecofriend

Correct Answer:- Option-C
Question71:-ypm gflwmen eedl LFLE Cemamed Caire| CFuis.
A:-@e) &L
B:-gacLd
C:-@mib
D:-genywLbd
Correct Answer:- Option-A
Question72:-Gameaiid Gumm@Epd QuTHBS 2 6Terg) 678 ?
A:-Cam(h_@erd
B:-yem_umenau
C:-dleny_suwied
D:-seflm_srig
Correct Answer:- Option-B
Question73:-'wjLall' creigerm GlLimmerr
A:-curesid
B:-am(

C:-ai(h



D:-yernenens
Correct Answer:- Option-B

Question74:-Lexicography eramugen SULHTESLD
A:-orQwied
B:-augeormmlwed
C:-Qgmeaadlwe

D:-sisrrdludlwe
Correct Answer:- Option-D

Question75:-'br&sL_e' eremLig)

A:-2 aueg0sTens

B:-@enL&Clamed Qgmiy

C:-2 fl&blgme Qg

D:-efleneng s rens

Correct Answer:- Option-C
Question76:-'genCenmeng' eremiengLs AflGsmed HepL_LiLig)

A:-@aflu + gas

B:-@benin+eans

C:-@er+epeng

D:-@ &l +epens

Correct Answer:- Option-D
Question77:-'saflliLy" eretLiger erdlFE6lFmed

A:-=iflg

B:-uens

C:-giugp

D:-08lp&s

Correct Answer:- Option-C



Question78:-'genL+oyL " cranLsamend Cafssmed dlepLLiLig,)
A-genL i
B:-gpan Cuim
C:-gpemLwim

D:-gpenLom
Correct Answer:- Option-C
Question79:-'Aipgmoentl’_@)dled 'Slbsr' eramLsen @Qev&EeHenTd @&mlLL
A:-GLwQr&sb
B:-erdljoenm elenemllwiFsid
C:-allenarClwgsid
D:-FmiQasl L erdliweanm GuwblyFsid
Correct Answer:- Option-D
Question80:-w&&er aum(pld Hlols LGdamws Ghl&@ELD GlFme
A:-gL_e
B:-Lrenau

C:-enouliyy

D:-<,10

Correct Answer:- Option-C

Question81:-Which section of the Abkari Act empowers the investigating officer to
file a final Report (charge sheet) is Abkari Cases before the Honorable Court
Concerned

SUsTH sl gSler erbsll Wifley, FbLBSLILILL f;g)mmmg@@ SUSTH UPEGSET GNISS
@nid @Msmasamu (GHoliLgSflans) sresd Celiw Hoarmie| A &sTiléE udsrrb
Sjefladmg?

A:-Under Section 40(2) of Kerala Abkari Act
Carer SuasTf sl Lgder Gfla 40(2) Qe Sip

B:-Under Section 48 of Kerala Abkari Act
Carer Siuasmf L gdlear Afley 48 Qe S

C:-Under Section 50(2) of Kerala Abkari Act



Carer SusTf sl Lgder Gfla] 50(2) @eir Sip
D:-Under Section 41(1) of Kerala Abkari Act
GCarer LT L gdler Gflaj41(1) Qe Sp
Correct Answer:- Option-C
Question82:-Which of the following statement is/are correct one?
i. Abkari Officer holding inquiry under Abkari Act may summon any person to
give
evidence.
ii. Abkari Officer holding inquiry under Abkari Act should be obtained a prior
sanction from
the superior officer to summon any person to give evidence.
iii. Abkari Officer holding inquiry under Abkari Act shall summon any person at
greater
distance from the ususal place of residence.
iv. Abkari Officer holding inquiry under Abkari Act may NOT summon any person to
give
evidence.
YereumLd SiMsamssafled ergi/crenel Filwimeng,?
(i) oism sl gdler BQ;IC_Q edlgrreneanr BLSHID HLISTH HHETH, eTHS BLIMFUD
T Slwell&s enLpSSaTLD.
(i) <vsmh sl Lgdlen Ep elamrenant BLSFID SLisTf s, erbsCeum(m
BUTLD T dlwunelsEs Dampsds 2wy SHasmiludimbg wper enindl Clum
Gouer(hid
(iii) <tsmh sl Lgden E1p ellemrenent BLEFID ALSTH HHSTH, cupdsLomen
Sl 550(BBg DiHs gTeaneaier o 6tar eThsbleum(m BLMILLD eUreamLpss
Couemr(hLd
(iv) <usmfl sl dler e‘%lc_'p cllgmgeneant BLSHID ALIsTH darf, sTlfwuelss eThs
BLEDTUILD HNLPESHE5TnL_TF).
A:-Only i and iii
I HmID iii (b
B:-Only iv and ii
IV pmib i L (HLd
C:-Only ii and iii
i pmiLd iii I (HLbd
D:-Only i
i b (Hd

Correct Answer:- Option-D



Question83:-Whenever makes any arrest and seizure under NDPS Act, a report of
arrest and seizure should be submitted to the immediate official superior within :

NDPS s L gdlan E1p gCoed anaggl HmD LPlpsed GeliwtitiBb Curbgood, aag
HmD UNPSH GNSS Didsmaamu GOILELL Crrsdld dsmfiulib Foiass
Gouemt(hLbd.

A:-72 hours
72 wewfl CrrLd

B:-24 hours
24 wanfl Cpyd

C:-48 hours
48 wewfl Cryb

D:-12 hours
12 et Crrid

Correct Answer:- Option-C

Question84:-Who is the zonal head, which comprises four/five districts, in Excise
department?

SO FGanDUAled BTenn(@/®bgl TeIL L BISEET 2 TeTL_&&H W LDERTL_ 0S5 SEQUEUTT W)
A:-Deputy Excise Commissioner
ST SEOITED <Y,EHETUIIT
B:-Additional Excise Commissioner
Ga(DBHED SHEITC) 4,6 60T ]
C:-Joint Excise Commissioner
Gl () HEVMTE) <46 60T LI
D:-Assistant Excise Commissioner
2 56 HEOTED 6T

Correct Answer:- Option-C

Question85:-Statements of a summoned person under Abkari Act recorded by an
Abkari Officer;

Slismfl sl Lgdlen S1p SAewpssliuil L pLfler Sidldans s sHarflurd udey
Qe L g.
A:-Under Section 44 of Kerala Abkari Act
Cayer olismfl gL sdlen 9fey 44 Qe S
B:-Under Section 40 of Kerala Abkari Act
Carer SusTf gL gdlen Gye| 40 e S
C:-Under Section 46 of Kerala Abkari Act



Carer Slasmf L gdlean Afley 46 Qe S
D:-None of these

@eau grgidleveney
Correct Answer:- Option-C

Question86:-Which of the following statement is correct about on "Every Person
arrested under Abkari Act should be produced without unnecessary delay before";
i The Abkari Inspector.

ii. The Deputy Excise Commissioner.

iii. The Assistant Excise Commissioner.

iv. The Officer in-charge of nearest - police station

"SUsmfl L gdlen 1 engg Qeiwinl L geiCeum s pLenrubd Coemeuwidn SmogLleml
e 2AnTU(HSS CeuamHid" eremugl LUmMlw GemeumLd gapmisetied eTg Ffluimerg).
i, Stismfl @erev6lusL T
i, SIEHEWT STEL 24,60 60T ]
iii. 256 Heme <y,enewTuly
iv. SmleieTer smeue HlenewTwiSSlen ClLmmiriimeTy
A:-Only i and ii
i omD ii L (HLd
B:-Only ii and iv
i LHDID IV L (HLd
C:-Only iii and i
i omID i (b
D:-Only i and iv
i LOMID IV L (HLD
Correct Answer:- Option-D

Question87:-Abkari Inspector can bailout any person accused of commission of an
offence punishable with imprisonment which may not extend to

SUsTH @emev6usL SampssaTLamar alldEssgmiq W GDDESnSF CFUISEHTE GHDHMOD
gL iul L erhgGleum puerud Waenrufed elHiellds (wigqub, @& Bl iqSEULL T
@\(mSsHeLD.

A:-5 years
5 oy ar(hser

B:-3 years
3 <y er(h&eT

C:-8 years



8 <y er(haer
D:-4 years
4 oy et (Haser
Correct Answer:- Option-B

Question88:-Which of the following registers should be kept and maintained in
Excise Range offices?

i Toddy shops licence register.

ii. Process register.

iii.  Abkari old Arrear register.

iv. ~ Crime register.

soré aifl Sigasksaa Gearamb LHGCauBsd amal LFMoREsLL CadmHLb?
i. seT@Epssam 2 fll LSHCau

ii. Qewewpeanmis udlGou(h

iii. @usmil uemwpw Blaiemel LIFGauH

iv. Hn LHCaE

A:-only i and ii
i LHMID ii L (HLD
B:-only i and iii
i omd i (LD
C:-only ii and iv
i LHDID IV L (HLd
D:-only iii and iv
il OmID IV L (HILD
Correct Answer:- Option-C

Question89:-Which of the following statement is/are correct about permits for
transport of liquor under the Kerala Abkari Act?
I.  Permits for the transport of liquor may be issued by the excise commissioner or
by any

person duly empowered in that behallf.
lIl. There are two types of permits one is general permits, second one is special
permits as

per Abkari Act.
lll. Every permit shall specify the name of the person authorised to transport liquor.
IV. Every permit shall specify the period for which the permit is to be in force.

Carer LT L gdler Ep wgLTaDd Ggmear(h CFboushsrear Saindsdr @GDss)
YereumLd snpmisefled erg) Fflwimeng?
i. wgiurend Csram(H CFLeUSHETET HIDSGET HEOMED Y,EMEMTUITTED) DHDE0H)

SASHETS (WPeDWES HS&TTD CGUHM eTHSCleUT(h BLFTEILD GULPBISLILIL LD,



ii. @rer(h cuenEIITer ELESHET 2 cTerear, eam ClLNgl einSls6r, @ e Teoug,

ol sig@iwdlser SUsmfl s Lgdlen Lilg

iii. geuCeurm adub wgurarbd Csmer(H CFwan HmEsfasiuLl L BLifler
Cuwenrrs @O, Couenr(HLd.

iV. geulleumm eioSlub Da@indl wadled @QMHEEGD STusamss @GNILG L

Couemr(HLbd.

A:-Only  and Il
| womid I (b
B:-Only Il and IlI
Il oomid b Hib
C:-Only lll and IV
womd H vl @i 1V
D:-All of the above
Cuhamm SenaTsgID
Correct Answer:- Option-D

Question90:-Who has the power to withdraw establishment stationed at the
Distillery under the Kerala Distillery and Warehouse Ruler?

Caiyerm cuigougmaned HMID Lk <L Swmerfler Sp o eTer ulgFTenavudieh
Bmissiul_(heter Himeuangens Sl Gum WmhEE 1FSMrD o 6rerg)?

A:-Deputy Excise Commissioner

SINET HEVITC) 4,6 00T U]

B:-Joint Excise Commissioner

L (h SOTOVE) <,eHEuuT LI

C:-Excise Commissioner

SHEVITE) <, 6N 60T LI

D:-None of the above
CuopamMueupdlé ergia|uleena

Correct Answer:- Option-C

Question91:-Which of the following statement is / are correct about Beer as per the
Brewery Ruler?

l. Beer means any liquor prepared from malt.

. Beer means any liquor prepared from grain with or without addition of sugar
and hops.

lll.  Beerincludes a/c, porter and stout.

IV. Beer is a fermented alcoholic beverage.



LoglLITem e <l Hwimerflen sgapmilitig 157 updlw Gemeumd sapmisaiey erg/eTaney
Fiflwmeng?
i. 57 eretg) L 1460 (HHg SWTFESIULL FGHUTRTSMSILD GDES DS
ii. 97 ereirLgy #f&seny LHMID anTlich CFrég SDOG GO MD
el wsSd(mhgl SWMRSSUIULL eThS WGUTISSILD GNEE DG
iii 97 ererigy a/c, CumilLi wHmibd evey Y Fweuperm 2 drarL&lwig
iv 97 e LyefldsmeudsuL L LogILIMeLD
A:-Only I and I
| womib Il (Kb
B:-Only Il and Il
| womib 11w (Kb
C:-Only lll and IV
Il womib IV bl (o
D:-All of the above
CuGe 2 6TeT DenarsgID
Correct Answer:- Option-D

Question92:-What is the residue left on straining off wine after completion of the
process of fermentation?

ApmHsse Cewdpenm (b L9nE waieme aulgsL (HGCUME erepFflulmeEG0n T&FD
GTGOT60T?
A:-Must

SLU_L_muL

B:-Lees
606

C:-Raisins

Srrlengser

D:-Young wine
@erd gpulles

Correct Answer:- Option-B

Question93:-Who among the following officers in Excise Department can make
search in houses without warrant?

I.  Civil Excise Officers

Il. Preventive Officers

[ll. Excise inspectors

IV. Assistant Excise Inspectors.



semed glanuile 2 arer Wetreu(Hbd Sifarfsafied wmy euryeir @emoad eihseae
Cangear b5 (P Ld?

l. fleflé semed sidsmhser

Il s(hUYy iSlsmilser

. sevmed < ieumaTF&H6T

V. 2 g6l semed <, Uieumeriser

A:-l and Il
| womio 1

B:-Only Il and IlI
Il wpmid Nl i Hib

C:-ll, lll and IV
11, 1l pmid 1V

D:-I, I, Il and IV
L, 1, 11 bpmyd 1V
Correct Answer:- Option-C

Question94:-Who among the following Abkari Offices can enter and inspect place of
manufacture and sale of liquor under the Kerala Abkari Act?

I.  Preventive Officers

lI. Assistant Excise Inspectors

[ll. Excise Inspectors

IV. Deputy Collector in Revenue Department

Gevreu(md SisLH Sdsmhsafier wiry Cayer SlisTf sl Lsden Ep wgiumear 2 HLSSH
HmIb edhuemer el @)L S8H@&6T Renphsg e ClFuiuiemib.
l. sOUY 1dlarfser
Il. 2569 sevmed <y UIeImeTygHeT
. seomed < uieUmaTi&H6T
V. aumeumitg gienmuiled glenewr sGlesL iy
A:-Only I and I
| womib Il (b
B:-Only Il and I
Il womib ol (Ko
C:-lll and IV
' womw IV
D:-I, Il, ll and IV



L, 1L 1 wpmin 1V

Correct Answer:- Option-D
Question95:-Which of the statement is true?

6eThG SaMM 2 GTENLD?

A:-All Abkari Officers are bound to give information about Abkari offences to
his immediate official superior

Smangg SUsTH ASSTHEEHD DLsTH GODERISET UHPIW $56I0SHENET ShISHET 2 L6l
9HETHSE euLpmIE SLenliLIL (HeTerery

B:-Preventive officers in excise department are Abkari Inspectors
seomed glenmuiled SHILIL DSETHlGeT UISTH ) UIeUTeT[SeT

C:-All government officers other than an Abkari officers are not be bound to
give information on
Abkari offences to an Abkari Officer

@ 2AUsTH fsmfleows 5697 HMH AMETSH ATH ASSTHSEHD USTH GHDHMhIGET
LUHOIWL SSEULSEET SHIGET 2 L 6Ty ASSTHEHE eULpmIs HLenoLliLiL (HeTerery

D:-All statements are correct
DG ADSMESHEHD Fflimerena

Correct Answer:- Option-A

Question96:-Under the Abkari Act, Section applicable for offenders may be arrested
and contraband liquor vehciles etc. seized without warrant in a public place?

<lisrfl sl Lgdlern S, @Doourels@ré@ QuTBbssaiyw Wfley ensg Qewuiul (),
QuTg QL Gl eumFeRTL @AM SLGH LOFGILIMGILD, eUmsambiser CLTeTmelDHenm
udlpged Cetiwemb?

A:-Section 31
Aifley 31

B:-Section 32
Aifley 32

C:-Section 33
Aifley 33

D:-Section 34
Yifley 34

Correct Answer:- Option-D

Question97:-How many regional councilling centres are working under the vimukthi
mission now?

Mupsd Wagafler Ep QUICLTE eTdsamer ATHSHWL S j6mélelnl enowIbIGET



Qeweu@dHermer?

A:-2
2

B:-3
3

C:-4
4

D:-5
5

Correct Answer:- Option-B

Question98:-What are the main objectives of the Nerkoottom committee among the
following under vimukthi mission?

l. Prevent drug activities inside and outside the campus.

. To monitor and conduct anti-drug activities.

lll.  Promote awareness regarding the side effects of drug use.

IV. Monitor and conduct several community extension activities regarding anti-
drug

Mpsd Wagafler S o erer QprGam_L b @upeiler (psHw Crrésmhiser wrameu?
l. euemmassSHE 2 e1Ceruybd GleuaflCGuiuybd CumengiCLMHET BL 6y SMSHM6ETS
5055

Il GurensliCummeT eTHTLIL| BL 6l HENSSMET SETEHTENTSS] BL_55IH60

. Gumrengliummer LweTUTL g6l LGS ellanaTe|geT GMSs eSlILiL|enrienal
2618 (& 6115560

IV. CurengliGummer erdliliL) Csmfuner L6 Fops Alfleunss HL ol SaasanaT

SEOTETEN S5 BL5F1560

A:-Only I and I
| bpmd 1l L (Hib

B:-Only Il and IlI
Il bpmid o (Hib
C:-Only lll and IV
I wbpmd 1Vl (Hib
D:-Only I, II, Il and IV
L 1L 1 wpmid 1V bl (Hib
Correct Answer:- Option-D

Question99:-If anyone dishonestly uses another person's credit card number or
password, be commits an offence of



wrpmeug) HEDmmeuFler SCrgl sTi{H eTer g &L Ftgmerena CrrenwmD
papuliled LweTL(HSSH T, 6l GDoFmF CFwid .
A:-Cyber stalking
MEUT VL& m
B:-ldentity theft
S (HLGDL S WITETLD &TEm)Ig6
C:-Phishing
Gedim
D:-Cyber Bullying
eau L6
Correct Answer:- Option-B

Question100:-Which among the following statements are TRUE about the
Information Technology Act, 20007
i Section 66A is declared as unconstitutional as it violates Art. 19(1)(a) of the
constitution

of India
ii. Power to investigate cyber crimes is vested with the deputy superintendent of
police
iii.  The offence punishable with imprisonment of three years shall be bailable

ga6ue Camloml ug gL b, 2000 updlu WeTeuD sFmpnisefle erg 2 arenin?
i. 976y 66A <rdlweenwliliing (prewtmeng) ererm SMeNGsLILIL (HeTerg), oFblemented
98l @b rflueenwiier Gfle) 19(1) (a) & Bmdng.
ii. gLl GDHDEIGEET GNFTHEGHD AHHETTLD SN STELUED HENTsTewtLILIMeTIILLD
2_6Teg)
i, epenm (st HevmssarTiamar elssLHL GHb prfeafléd Geuafleumd
A:-i and ii
i LHDID ii
B:-ii and iii
C:-i and iii
i LHmID iii
D:-i only
i L (HLd

Correct Answer:- Option-C



